Te\Q veuiw’s Tée (1T I . 'ly'C:gz)
\

o T

«u—’ TV,

av \bu‘uqu

CcMP\Qm‘(;
ASSume et
\t Ceutam)

Reli St orf aud

vdePevdeud
Seurte)

ASSuwme Wul
e okl n

A
—

Cotium
nou. LWear

Comfontu¢/f

owvtaw VTR ) p‘TH

=3

Let

& Caw e
redueedr o

o Vilteont
Seurca witd

o fesi)tov
\" Ser'e)

R « Loak

Re)ivor




Fmd Theveum Qauivalams @
oS Seeu by R,

Skofd \ Ra wove &
3¢eP 2 | Naqw:, Ofew =ittt wiltage

vetweam Por't] & b

VR \J”‘ \bnv\ cirtur’t
— o
AR =V
=t = Vi

Stef3) Cow furtl LT
T a) Set all {ndefeudeui Sourcey
€o 2evo
Mok Tevo Volkayr —)SQNY\-
tovo Cuyrtut = 0Pl

b) Compute the Qduivalem
o« ResiStuuc betwaam

2‘] torvdél dAdb
°

sourta) ‘Qq,n,g p""'"'*' = P‘Q.“ Q,\ \
=90 sour(e) o




£ fuwm PR GO

*

* R d

N —
> k2 %0.._

)

Emk the  Tlhevew'h tyuivaléwnd

ertwran Poatl b, U8 Seen

vy RiL
\) Q2w ol L
r R N
V3 2 " Ve = Vi

] N o\t *94- '0\\‘\'\? J Qv . qu::\,-t-ﬂz\'s -i?.-.
Stef L RieRq

d

vtePp3 Set VNynp @S__ RawzRIn
| -




b
Rap= Raw = wllR2

T 2evd v Q‘.ﬁ\u{ v\ &y

T

Ng = \2V 2 2 \pA
\ F‘\ 32-‘-"\-

€ caw P2

- &V

- A £¢C.E .
Gtk 2 \ell2k A = F k-

= Vi = \ LR




Ao by adwple ),

U o, &
\2oV .
F\\Jk '\-‘\.tvtv\\'w S&Rw b= "'L

stepl) Rewor Ry
R\ c *ﬂ’_d'

4
\ Vv ° t (o
vy - -
I\ ®

e evit Ve *'chp‘VNF °
R+ Ry

Ne.d=Vs

9 Vap 2 xVoeweA

3 Vﬂb:\)d\‘:__ Ns €

Rtk 2




Rap 2 rt-m-;@unw.) +#3

‘TQ\Q\IQ\M\ @.-ﬂ*

t % 333 %
\l“ YoV ﬂL

=) VT“"‘ \20* }o"“bﬁv
-

© e = Q—o(l@o) +6o =3I




< bYewrewm of VAR, Y imu Wy @
Pow Yy kvawiier

.

\

RTH

+
Vo Lo )\,‘_ R

Cwd €L fov WwaaRimuw Powar
Acgg;(ah'uw weyol QL

e n fower les& &t RL
L=

! \,2'

- [

Pua Tohe ==
N Ml ) \'k‘VTl'\ R




(2 5é

Q}-&-@T&)z
MO ™ (Le Rri
3\&‘ .0 VT& C_@"“l
&&L a't-ﬂg
Rtw J

= EL:. ﬂ‘t':.] Powar 3 wmugiuitey

]
&/ P - V:\k [—(ﬁﬂmh)-‘s(hn- t)(Rrv
[E.—.L - _ Q‘T& +R96
whoq Bz FTH #__‘L P
AR

WA XTI Wuin




wlat ) n Value @

ok Yl MU Riwmuwm (,VU,.T
PMAL Y '...0.&.,‘,\ ‘L:RTH

[
= (L‘)Mk)t = VTH# R T

—

QTR*‘H-&)Z

Productve Luttnl)

——————— .

Cora

Tuw 4l el ).
Productver ﬁ_

Total = pelivered by Source




fowar delivaredh Y-
Soure ("’""

o
I3 '[ 3
P&t‘\"v evad Vs, s

\ 4
Tu fPraviown) cirids

a2 Is = YT . TR

S—— RN RN SRR —-—

€S - POVQ-Y‘ Frowm Souris

2 )

?g = N T 2 VT -
2 Rn

——— S

\
RecRtH




Y epficiency s N G

0
N\ = ?L- *l\)blo

iS
o,
AV o
3 W2 T.._.,.“FTK - A :-S‘o/
Verul < °
T“/;,z. RT K

AE MAX WU
fow.l\f

_l‘f_v.‘.'__ﬁ)\:md L value \a-l.
Ru bl wiaxivi ey
i B QF{:'Q«'Q.HCy

! Fmd M waxiwmuy
Rru RHFIC Quc)l

w‘{*’ﬂ-&}ﬂg




